MI10x1,25x25 - 4x

PMIO0xT,25%35 - 4x
MI12x30 - 4x o
% PP10 - 8x
19%70 - MI12 - 8x (A, 1)
M12x30 - 2% (1) | PR12 -8x [C)
M12x19 - 3x (C) ' !

M12x21 - 1x (C)

DETAIL
KIA SPORTAGE

MI12x19 - 3x
MI12x21 - 1x

M10x1,25x35

M12x90 (10.9) - 2%

110 Nm :
| AIC 32502 e Kéd: HO956(A..C) 21.8. 2022 A

HYUNDAI TUCSON, KIA SPORTAGE




